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N HASREZS 279,784 242,174 37,610
04 SRE(PIIHL) 22X BESRE3 S 279,784 242 174 37,610
ORI (RINHL) 22X 20142
2,531,541,00020 %4, 5% 113,920
OZRI(PINIHL) 22X ALEE
2,531,541,000& *3.495% 88,478
OFRH(RIAHL) 22X BIQLEE 10,857
OS2RH(RIAH)22X DEESE
2,531,541,0002*1.75% 44,302
O3RI(PINHL)22X ATHEE
2,531,541,0002+0.878% 22,227
Y Sst=sdlled2sela XA (AY) 57,147 54,827 2,320
= 22,858
< 34,289
101 el24H| 51,459 49,545 1,914
= 20,582
= 30,877
03 SR (RIAHY) 22T E> 51,459 49,545 1,914
OL=ES 51,459
-J|E2= 37,282
= 14,912
= 22,370
-0, 02 Fe225E 4,782
= 1,912
= 2,870
P = 2,126
= 850
== 1,276
—HelgsEt| 600
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A= BASFARE A BASHAIAA
M PASPALE 29
chel: BAHSA (SH9 H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
= 11,000
< 11,000
XSENFaG oot (22| XI) 413,590 388,590 25,000
2l 165,436
[ 248,154
201 er2 3| 85,000 40,000 45,000
) 34,000
< 51,000
01 AtR2t2l] 5,000 5,000 0
OXgHF ATt = Bt~ H| 5,000
) 2,000
< 3,000
02 S5=2g4l 80,000 35,000 45,000
OMSoIM3SE HTAIE(BL3) 2L 35,000
2l 14,000
(= 21,000
OMSerM3SE HFAIZ(BL3) LS 45,000
) 18,000
< 27,000
202 Ot 5,000 5,000 0
pJ 2,000
< 3,000
01 =LHoi 5,000 5,000 0
OXSHE Ao Zet= SF0I 5,000
) 2,000
[ 3,000
207 AR 323,590 343,590 20,000
) 129,436
< 194,154
03 Al 2t 323,590 343,590 £20,000
OdAISr & BAHHE 7 323,590
2l 129,436
< 194,154
XNANFHAC olmet RE(ESHEEH S X) 137,500 112,500 25,000
) 55,000
[ 82,500
405 Attt = 137,500 112,500 25,000
Jl 55,000
< 82,500
01 Tt =S F=H 137,500 112,500 25,000
OB | 8,000
) 3,200
< 4,800

_104_




A= BASFARE 2AIAARA
M PASPALE 29
chel: BAHSA (e A
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
OO0|&t2HEHAHHED] 20,000
2l 8,000
< 12,000
O S=E=EX 83,500
) 33,400
< 50,100
O St =AM 20,000
pJ 8,000
< 12,000
Otlgdaa g zel) 6,000
2l 2,400
[ 3,600
+=0ld - ASd2EE2AY 29 36,000 36,000 0
) 18,000
< 18,000
207 ARl 36,000 36,000 0
pJ 18,000
< 18,000
03 A& 328 36,000 36,000 0
OdEAISF & =X 36,000
2l 18,000
& 18,000
CEHIOIHAS Agd ALY 29 30,000 30,000 0
) 9,000
< 21,000
207 AR 30,000 30,000 0
) 9,000
< 21,000
03 Al 328 30,000 30,000 0
OdEAISF & ZAHHE 2 30,000
pJ 9,000
< 21,000
C2HI0IH A ZAF X~ 12,653 12,653 0
= 5,061
[ 7,592
207 AR 12,653 12,653 0
= 5,061
= 7,592
03 A= 32t 12,653 12,653 0
OdTAISr & SAHHE 7 12,653
= 5,061
< 7,592
ASET M X2 61,908 61,908 0
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A= 2ASF A A EAEZHIA
M PASPALE 29
chel: BAHSA (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmoETAreER e T == B Ofl &k ==
= 24,763
< 37,145
202 04l 5,000 5,000 0
= 2,000
& 3,000
01 S0 5,000 5,000 0
OAMESsz =Hacl 280| 5,000
= 2,000
[ 3,000
207 AR 56,908 56,908 0
= 22,763
< 34,145
03 Al 328 56,908 56,908 0
O&ltAIS & BALHE 7 56,908
= 22,763
< 34,145
OO ERH HHAS AN NME X 26,352 20,470 5,882
) 13,176
[ 13,176
202 04| 1,000 2,000 21,000
p) 500
== 500
01 2LH0od 1,000 2,000 21,000
O0lI0I =&kt R ZA2te S0 1,000
2l 500
< 500
207 ARl 25,352 18,470 6,882
2l 12,676
[ 12,676
03 AlZ &I 25,352 18,470 6,882
OO0ll0| =&t At ZI[EA A MEAISF & &
A= 25,352
p) 12,676
< 12,676
=Jt2H Ol ALS 61,334 56,318 5,016
pJ 30,667
< 30,667
207 ARl 61,334 56,318 5,016
) 30,667
[ 30,667
03 AlZ &= 61,334 56,318 5,016
O&IEtAIS & =AY 61,334
) 30,667
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A EASZAI Ao BAEERE
M PASPALE 29
chel: BAHSA (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmoETAreER e T == B Ofl &k ==
| & 30,667
SESEIIHIOIHAMEA 2AY 2 60,000 35,000 25,000
2l 30,000
< 30,000
207 ARl 60,000 35,000 25,000
pJ 30,000
< 30,000
03 Al 328 60,000 35,000 25,000
OXEAIS & ZAHE 2 60,000
2 30,000
[ 30,000
A S AA} 360,000 360,000 0
201 fer= 3| 70,000 70,000
2 35224l 70,000 70,000
OAIE &SI 70,000
207 ARl 290,000 290,000
03 Al 328 290,000 290,000
OlIE= ZAAI 60,000
OHEZHE AN 20,000
OA2fE HAAI 110,000
Os=4tE HAAI 100,000
AlojotEOIM2Al 2 TS 2,400 2,400 0
= 2,400
206 M=zl 2,400 2,400 0
= 2,400
01 MZH| 2,400 2,400 0
OS2 H At 2,400
= 2,400
22 IsAE 2el 23,880 23,880 0
= 11,940
< 11,940
206 M=z dl 23,880 23,880 0
= 11,940
[ 11,940
01 MZH| 23,880 23,880 0
OAdHIISAS A 23,880
= 11,940
[ 11,940
FSHitE 2 51,600 55,600 24,000
= 25,800
< 25,800
206 Mz Hl 51,600 55,600 24,000
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A= BABAATL SA  BABAADA
Hu: ST 2
o9l =243 EER-E)
Al = 5 ol (5 = dEe =
AR RA - ZB . O9(B) - HIRAY - BES ol k4 S HlmE2
= 25,000
= 25,000
207 SN Y| 50,000 0 50,000
= 25,000
= 25,000
03 AlEet | 50,000 0 50,000
OMZE As2AIHH PE(5H42A1) 50,000
= 25,000
= 25,000
F2LHY ZEH AAMH| X 1,050,000 0 1,050,000
= 1,050,000
207 AR 1,050,000 0 1,050,000
= 1,080,000
03 AlEe1 | 1,050,000 0 1,050,000
OZRZLHY TS 2AMH X 1,050,000
= 1,080,000
FQAAY HE2AA| 32,000 0 32,000
= 16,000
< 16,000
101 Q124H| 32,000 0 32,000
= 16,000
< 16,000
MORII22NSES 32,000 0 32,000
OFQZady H2LAAY 32,000
— 0124 28,815
= 14,407
= 14,408
-pEeua 3,185
= 1,59
= 1,59
VPSRt 701,776 714,497 12,721
= 40,000
= 661,776
WIENY 2 344,576 304,797 19,779
201 et AH| 336,576 316,797 19,779
01 AfR22IH| 12,183 1,400 10,783
OIIAALHSA (S S) 1,400
OUII==ZEH 2 - == 10,783
2 Zz29Y 324,393 315,397 8,9%
O==ZR2 2 XAl 26,271
-HIIERY MIIe3 S 26,271
OA&ZHISX bl 298,122
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A= EASFAIA A EAHEEHARRA
M SBAHEHALAR 2Y
Rl o3 sdYEg (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
202 Ot 8,000 8,000
01 =LHOBI 8,000 8,000
OWIIEEZEE &0 8,000
ost2sd8a 224 X2 277,200 277,200 0
308 KXIHMSOIH 277,200 277,200
01 AXSHELEES 277,200 277,200
oItE=3a 2%l XA 277,200
toI=&82 4 80,000 0 80,000
= 40,000
& 40,000
405 KHaHE S| 80,000 0 80,000
= 40,000
& 40,000
01 XL = SF =S| 80,000 0 80,000
OouoIsdx &X 80,000
= 40,000
& 40,000
g ze| 521,700 816,700 A295,000
= 100,000
& 421,700
SRLAL A 321,700 321,700 0
201 23| 55,000 55,000
02 2324l 55,000 55,000
OAIZZEH| Sl 55,000
202 Ot 6,700 6,700
01 =LHOBI 6,700 6,700
OHIISEAL AZHF SEH0YI 2,700
OYU=2dA AZIHF ESE0YI 4,000
207 A2 IHEH| 260,000 260,000
03 Al&l 2| 260,000 260,000
OsZ2d ZAAIL 2 260,000
SHEE0F AIFZALY = HE HEH J|Et1E MY 200,000 188,000 12,000
= 100,000
= 100,000
101 eI H| 72,000 70,000 2,000
= 36,000
& 36,000
M IItHI22 S E 72,000 70,000 2,000
OSZZ0F ANIEHAI HREX 72,000
— Q14| 64,840
= 32,420
& 32,420
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2218 A EASARE
A3 29
EMNARATIESXH CH M2
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
03 Al& &3] 22,560 22,560 0
OZA AT L AIHBALY =& HZH| S 22,560
303 Za= 1,200 1,200
01 Z&a3 1,200 1,200
OZAFATAN toll HE Al&t= 1,200
HY2IZH(BAHEPARA) 6,595,102 6,588,500 6,602
= 10,577
s 9,036
| 54,682
= 6,520,807
el 3A| 6,324,072 6,354,860 230,788
= 10,577
iy 9,036
| 54,682
& 6,249,777
ol 23| 6,037,408 6,056,993 A19,585
101 @124t 5,804,775 5,831,829 AN27,054
01 E= 5,436,104 5,481,176 A45,072
oJles 3,907,898
- UBHE(AZHI) 85,339
53 7,111,5092 18+ 122 85,339
—ARZ(ASH) 1,006,706
SR 7,626,555@x11F 123 1,006,706
- dBE (S =H) 370,637
=1 4,853, 7643 +4B12& 232,981
= 2,513, 10922« 12& 60,315
= 2,148,358 3B+ 122 77,341
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